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Part 1 Reading Comprehension
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The Mainichi Daily News reported in 2010 that “Universities across the globe are
competing to acquire excellent minds because intellectual capital has the power to
determine a country’s future”. At the same time, the 2010-2011 fiscal year saw the
anticipated rise of China to the world’s second-largest economy, relegating Japan to the
third spot. Japan’s once famous ‘social and economic approach’ that enabled it in the
past to catch up and even surpass the West is no longer sufficient.

Technology is often seen as one way to help countries develop both their fiscal and
social capital in the global market. However, technology cannot only be understood as
a set of neutral skills that can easily be assessed through school and university entrance

exams. As Japan’s Prime Minister’s Commission outlined in 2000
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Even though Japan can boast some of the most advanced technological infrastructure
in the world, youth in Japan often lack these global literacy skills. If you drew a Venn

diagram, global literacy would be the intersection of Dinformation literacy, Information

and Communication Technology (ICT) literacy, cultural literacy, language literacy, glo-

bal language proficiency and critical thinking.

Being globally literate means that you are able to interpret and communicate
information in appropriate and effective ways. Research from the University of Central
Florida has shown that global literacy is an essential ingredient to academic and
professional success. This is because globally literate people are able to think creatively,
extrapolate concepts and develop new ideas from existing information.

@Being globally literate is not just about accessing information from the Internet,

reading blogs and home pages, writing SMS messages on mobile phones or down-

loading mp3 music files. @It requires you to actively analyze and apply information,

which can be as exciting as developing an iPhone application that earns you a lot of
money.

If Japan is to remain globally competitive and, more importantly, create employment
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for its university graduates, then more needs to be done by educational institutions to
foster an environment where intellectual capital can thrive. A good starting point to

achieve this would be to focus on nurturing globally literate students.

Mainichi Daily News. (2010). Perspectives: Japan’s new educational isolation, The Mainichi
Daily News, 21 December 2010.

Prime Minister’s Commission. (2000). The Frontier Within: Individual Empowerment and
the Better Governance in the New Millennium, The Prime Minister’s Commission on
Japan’s Goals in the 21st Century, January 2000, accessed February 2011, available from
http://www.kantei.go.jp/jp/21century /report /pdfs/index.html.

University of Central Florida, Information Fluency Initiative, http://if.ucf.edu/faqs/
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Universities are competing to make money from people.
Japan’s past practices will guarantee success in the future.

(@)

(@)

(O) It is difficult to assess ICT literacy via entrance examinations.

(O) Japan’s youth have the most advanced technological skills in the world.
(@)

Global literacy is important for success as a university student and as a

professional.

(O) One of the global literacy skills is ICT literacy.
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Technology provides the solution for Japan’s future.

Global literacy focuses on technology.

@)
@)
(O) Global literacy is useful for making a Venn Diagram.
(O) Globally literate students do little for Japan’s future.
o)

Students need to become globally literate.
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Part 2 Personal response to the writing
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Write a short essay expressing your opinion about the advantages OR
disadvantages of becoming globally literate by referring to at least three of the

global literacy examples (from the sentence marked (D in the article in Part 1).
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